September 7, 20	004		Agen	da Item Sur	nmary	Blue	Sheet No.	200411	<u> </u>
1. REQUEST	ED MOTION:							,	
ACTION REC	UESTED: (1)	Approve FY2	2005 con	tracts for the	Partnering fo	r Results progra	n as adopte	d at the fin	al public
hearing on Sept	tember 22, 2004	4 and authoriz	e the Ch	airman to si	gn the contract	ts once complete	d by the cor	nmunity a	gencies.
(2) Authorize H	Iuman Services	to negotiate a	idjustme	nts in unit ra	ites and/or uni	ts purchased (3)	Approve FY	72005 cont	tract for
						rral Services and	authorize th	he Chairm	an to
sign the contrac	et once complet	ed by the Uni	ted Way	of Lee Cou	nty.				
			11		C 75 14		(22)		مطاطلت
		ARY: To lega	illy exec	ute Partnerir	ig for Results of	contracts for thir	ty-two (32)	proposais	and the
United Way of	Lee County.								
WHAT ACTI	ON ACCOMP	TICHTE Dr	wides C	ounty fundir	ng for social se	ervice programs	at a fixed un	it rate	
2. DEPARTM				ounty fundii	ig for social sc	3. MEETING	DATE:	1111101	
	ION DISTRIC			a -	\circ				
COMMISS	10. Digital		((25)	+		9-28	-20	04
4. AGENDA:		5. REO	UIREM	ENT/PURE	OSE:	6. REQUEST	OR OF IN	FORMA	ΓΙΟΝ:
110211311		(Specify							
X CONSE	NT		΄ ΓΑΤUΤ	E		A. COMMIS	SIONER	N/A	
L	ISTRATIVE		RDINA			B. DEPART		Human S	ervices
APPEA		<u></u>	DMIN.			C. DIVISIO		N/A	
PUBLIC			THER			BY; Kare			^
WALK						()	ma	(
	EQUIRED:						7/04		*
7. BACKGRO	DUND: The Hu	man Services	Partner	ing for Resu	ts Review Par	nel recommende	to the Boar	rd of Cour	nty
Commissioners	s to allocate \$3.	172,390 for t	hirty-tw	o (32) propo	sals. The fina	l recommendatio	ns were acc	epted duri	ng the
September 22,	2004 public he	aring. A total	of \$38,6	000 was allo	cated to United	d Way of Lee Co	ounty to help	support t	he
Countywide 21	1 Information	and Referral s	ervice.						
				, ,		· C		م ما امیر داده	aanaiaa
Partnering for	Results propose	als were based	upon a	reimbursem	ent rate per un	it of service that	was project	ed by the a	of unite
in March 2004	. Department s	taii will work	With ag	encies and a	gree on a cond	racted unit rate is	anntoved b	vy Denartn	nent staff
or unit rate differs from what current financial and service data supports. Once the unit rate is approved by Department staff, the agency will be reimbursed at the fixed rate throughout the contract period.									
the agency will be remiodised at the fixed rate diffuglious are conduct period.									
Funds are available in account string:									
FC5690200100.508210									
Attachments: FY2005 Proposal allocations									
	Department of								
8. MANAGEMENT RECOMMENDATIONS: Recommend Approval									
9. RECOMMENDED APPROVAL:									
A A	В	C	D	E	_	F			G Managan
Department	Purchasing	Human	Other	County	B	Budget Services		County	Manager
Director	or	Resources		Attorney		appro 4/14			
144	Contracts			11 1 1/20	OA	OM Risk	GC	1 ()	
12 2715	Contraction of the second	N/A	N/A	i niu	1 100		127	1 1/10/1	Sa d
144007/(10W)	7/2	$\mathcal{U}_{\mathbf{v}}$	10/A	1 Str.	TK416 /9	वा निर्	9/2/01		
RECEIVED BY AV.									
10. CONTINUESTON ACTION. COUNTY ADMIN. OF									
APPROVED					Date: 4/10/04		9/13/04		
DENIED					Time: 4:00		COUNTY AD		
DEFERRED					FORWARDED 10:1				
		OTHER			Forwarded To:		9.15.		
					9, 204 9:10	on	10:30	#	
S·\INTSVCS\I	Partnering for I	Results\PFR 20	004-200	5\2005 Fund		t 2005 PFR.doc			1/2

Lee County Board Of County Commissioners Agenda Item Summary

Blue Sheet No. 2004/179

DEPARTMENT OF HUMAN SERVICES PARTNERING FOR RESULTS PROPOSAL REVIEW SUMMARY

AGENCY	OUTCOME AREA PROGRAM NAME	AVERAGE POINTS	AVERAGE RANK	UNIT COST	REQUESTED	REQUESTED FUNDS	RECOMMENDED FUNDING
AGENCI	SUPPORTIVE HOUSING/LIVING	FOINTS	I NAME	Olar Cost	ONITS	FUNDS	RECOMMENDED FORDING
IOLAND COACT NOO NET HOOK		T					
ISLAND COAST AIDS NETWORK	CASE MANAGEMENT	72	1	\$ 6.65	35,320	\$234,878	\$234,878
VISUALLY IMPAIRED PERSONS	INDEPENDENT LIVING	63	2	\$ 23.77	2,735	\$65.010	\$65,010
DEAF SERVICE CENTER	SUPPORT & SERVICES	57	2	\$ 4.55	3,940	\$17,925	\$17,927
SENIOR FRIENDSHIP CENTER	TRANSPORTATION	59	4	\$ 1.61	9,000	\$14,490	\$14,490
SENIOR FRIENDSHIP CENTER	NUTRITION	66	4	\$ 0.61	117,297	\$71,551	\$71,55
SENIOR FRIENDSHIP CENTER	CASE MANAGEMENT	68	4	\$ 3.49	5,013	\$17,495	\$17,495
LARC	GROUP HOMES NON-RESIDENTIAL	66	2	\$ 923.16	225	\$207,711	\$207.711
LARC	FAMILY SERVICES	62	3	\$ 23.20	1,630	\$37,816	\$37,816
LARC	ADAP/T	62	4	\$ 3.50	4,506	\$15,771	\$1 5,771
IMPACT	EARLY INTERVENTION	36	5	\$ 39.00	5,550	\$216,450	\$216,450
CHILDREN'S HOME SOCIETY	DEVELOPMENTAL DISABILITIES	35	6	\$ 11.13	3,704	\$85,000	\$41,226
					SUBTOTAL	\$984,097	\$940,325
	ECONOMIC OPPORTUNITY						
VISUALLY IMPAIRED PERSONS	VOCATIONAL REHABILITATION	67	1	\$ 31.00	806	\$24,986	\$24,986
CHILDCARE OF SW FL	SCHOOL READINESS CHILD CARE	63	1	\$ 21.24	23,541	\$500,000	\$500,011
LARC	SUPPORTED EMPLOYMENT	62	2	\$ 770.00	3,490	\$26,873	\$26,873
LARC	WORKSHOP		3	· · ·			
		61		\$ 815.00	17,800	\$145,070	\$145,070
DR. PIPER CENTER	FOSTER GRANDPARENT	61	4	\$ 0.75	71,500	\$53,625	\$53,625
DR. PIPER CENTER	SENIOR COMPANION	57	4	\$ 0.75	45,000	\$33,750	\$33,750
DR. PIPER CENTER	SENIOR AIDE	60	5	\$ 0.88	60,443	\$53,181	\$53,190
CATHOLIC CHARITIES	CASE MANAGEMENT JOB READINESS & WORKPLACE	56	4	\$ 23.19	3,552	\$82,360	\$82,371
DEAF SERVICE CENTER	COMMUNICATION	53	3	\$ 6.64	3,083	\$ 22,575	\$20,471
AMIGOS CENTER	IMMIGRATION SERVICES	32	4	\$ 20.58	1,215	\$25,000	\$0
NATIONS ASSOCIATION	JOB PROGRAM	39	6	\$ 77.80	535	\$41,516	\$0
	atrasa.				SUBTOTAL	\$1,008,936	\$940,347
BIG BROTHERS BIG SISTERS OF	ACTIVITIES FOR YOUTH					 r	
SOUTHWEST FLORIDA	MENTORING AFTER SCHOOL	71	1	\$ 65.00	2,928	\$190,320	\$190,320
CHILDRE'NS ADVOCACY CENTER	ACTIVITIES	65	1	\$ 479.84	202	\$97,187	\$96,928
CATHOLIC CHARITIES	AFTER SCHOOL & SUMMER ACTIVITIES	61	3	\$ 3.92	23,070	\$164,430	\$90,434
SW FL ADDICTION SERVICES	EARLY RISERS FOR SUCCESS	59	2	\$ 23.33	3,660	\$85,408	\$85,388
LUTHERAN SERVICES	NON-RESIDENTIAL FAMILY SERVICES	64	3	\$ 44.93	2,200	\$179,722	\$98,846
PLANNED PARENTHOOD	OUTREACH/PEER EDUCATION	56	4	\$ 5.60	3,600	\$20,160	\$20,160
AFRICAN CARIBBEAN AMERICAN CATHOLIC COMMUNITY	AFTER SCHOOL READING	45	5	\$ 1,497.74	35	\$52,491	\$52,421
BOYS & GIRLS CLUBS OF LEE COUNTY	BEFORE & AFTER SCHOOL	58	3	\$ 7.99	6,144	\$150,000	\$49,091
BOYS & GIRLS CLUBS OF LEE COUNTY	SUMMER ENRICHMENT	59	4	\$ 10.20	9,804	\$100,000	\$100,001
	,			, , , ,	SUBTOTAL	\$1,039,718	\$783,589
	BASIC ASSISTANCE				GODICIAL	\$1,000,110	\$100,300
ABUSE COUNSELING &		00		4 50.00	6 000		· .
TREATMENT	RESIDENTIAL	66	2	\$ 58.00	5,093	\$295,368	\$295,394
CHILDREN'S ADVOCACY	FAMILY ALLIANCE	65	2	\$ 88.40	1,411	\$135,000	\$124,732
SLAVATION ARMY	EMERGENCY SHELTER	63	3	\$ 31.00	1,613	\$50,003	\$50,003
NATIONS ASSOCIATION	FOOD PROGRAM	46	5	\$ 77,60	535	\$52,800	\$0
CATHOLIC CHARITIES	DIRECT ASSISTANCE DEVELOPMENTAL	42	5	\$ 34.60	1,798	\$62,319	\$0
CHILDREN'S HOME SOCIETY	DISABILITIES	36	5	\$ 100.00	360	\$36,000	\$0
					SUBTOTAL	\$631,490	\$470,129
UNITED WAY OF LEE COUNTY						\$38,000	\$38,000
					TOTAL	\$3,702,241	\$3,172,390

	CFSA #	
	CFDA #	
	Contract No.	
STANDARD NONPROFIT CONTRACT/Unit of Service	Funding Source:	

CONTRACT BETWEEN THE LEE COUNTY BOARD OF COUNTY COMMISSIONERS And

THIS CONTRACT hereinafter references to the contract of the co	CT is entered into rred to as "COUN he laws of the Sta	o this day of _ NTY" andate of Florida and, her	, 2004, between Lee County , a Nonprofit Corporatio reinafter referred to as " PROVIDER ".
County residents	s through the PR (OVIDER according to	erest to provide certain activities to the Le this Contract, the agency's intent as state all other terms and conditions as specified
		ation of the mutual one PROVIDER agree	covenants, promises, and representation as follows:
ARTICLE I	SCOPE OF S	ERVICES	
(In	sert program des	scription)	
• , ,	t be implemented ibits/attachments		Lee County in accordance with the approve
ARTICLE II	TERM OF CO	NTRACT	
	all begin pension/Terminat		unless terminated as specified i
ARTICLE III	COMPENSAT	TON AND REPORTS	

A. Contract Payment

The **COUNTY** will make payments to the **PROVIDER** and the **PROVIDER** agrees to accept as full compensation the total amount not to exceed _______. Payments will be authorized only for services provided during the term of the contract and prior to the payment request date. Payment is subject to the provisions of Article III B Deferred Payment/Return of Funds and Article VIII, Suspension/Termination. Funding is contingent upon the availability of funds.

S:\INTSVCS\STANDARD FORMS\2005 Contract forms and information\Nonprofit -Unit Cost Contract template 2005.doc Rev. 09/04

The **COUNTY** has agreed to purchase the service (s) listed in Article I. This contract is for the payment of a fixed number of units of service at the fixed unit rate.

Program	Unit Description	Units purchased by County	Unit rate reimbursed by County	Total

B. <u>Deferred Payment/Return of Funds</u>

The **COUNTY** may defer payment to the **PROVIDER** for noncompliance with contract deliverables or program requirements.

If as a result of monitoring or audit, units of service provided are not documented a payment may be deferred. If units are found to be unallowable, no future payments will be made until the full amount of overpayment is remitted to Lee County or a repayment agreement is accepted by Lee County. If the monitoring or audit occurs after the term of this contract, the **PROVIDER** will be required to remit funds to the **COUNTY** in accordance with the repayment conditions below.

The **PROVIDER** agrees to return to the **COUNTY** any overpayments due to funds disallowed pursuant to the terms of this Contract. Such funds shall be considered **COUNTY** funds and must be refunded to the **COUNTY** within thirty (30) days of receiving notice from the **COUNTY** in writing regarding the overpayment. Should repayment not be made in a timely manner, the **COUNTY** will charge interest of one (1) percent per month compounded on the outstanding balance after forty (40) calendar days after the date of notification or discovery. The **PROVIDER** will be required to reimburse the **COUNTY** for any acts of non-compliance resulting in disallowed costs or fines.

C. <u>Contract Deliverables</u>

1. Required Reports (check if included in contract)

☑ EXHIBIT 1- Payment Request for Unit rate contract- Due: monthly by the 20th of the following month

Must be based upon approved unit rates and actual uncompensated units provided during the reporting period. Payment will be made upon receipt and approval by the **COUNTY** of a completed Payment Request. Copies of supporting documentation for units provided during the reporting period must be attached to the Payment Request.

□ EXHIBIT 1 - Payment Request for Line item contract- <u>Due monthly by the</u>

20th of the following month.

All payments will be reimbursement for expenses already paid for services rendered during the contract period. Required documentation will include vendor invoice, payroll journal, or other original documentation, as well as a copy of the **PROVIDER'S** check.

	EXHIBIT 1A Allocation by Service Activity - SHP only
Ø	EXHIBIT 2 - Program/Demographics - Due:
Ø	EXHIBIT 3 – Performance Outcomes Report – Due:
	EXHIBIT 4 - Unit Rate Analysis Report - Due: 20 days following the end of each quarter.
	EXHIBIT 5- Annual Progress Report or Closeout Report- Due
	EXHIBIT 6 - Certificate of Insurance- insert in contract
Ø	EXHIBIT 7 – Statement of Work

2. Required Documents

☑ Audited Financial Statement and Management Letter for fiscal year (s) in which contract funds are expended. – Due 180 days following the end of **PROVIDER'S** fiscal year (s).

☑ Monitoring Reports – A copy of monitoring reports provided by other agencies including the agencies response for programs funded by **COUNTY** will be due no later than **30 days** after receipt by the **PROVIDER**.

D. Contract Closeout

- 1. <u>Partnering for Results</u>: Unit rate Analysis Report due **30 days** following end of contract.
- 2. HOME -Closeout package for each property will be due **120 days** after closing.
- 3. <u>Supportive Housing Program and Shelter Plus Care</u> Final payment request and Annual Progress Report will be due **45 days** from last day of contract term.
- 4. <u>CDBG</u> Final payment request and demographics reports due by the **20**th **of the month following** the term end.
- 5. <u>Challenge Grants</u> A final closeout payment request may be submitted no later than 10 days after the end of the contract term or project completion date.

ARTICLE IV AUDITS, MONITORING, AND RECORDS

A. Monitoring

The PROVIDER agrees to permit persons duly authorized by the COUNTY and the Federal or

State grantor agency (if applicable) or any representatives to inspect all records, papers, documents, facility's goods and services of the **PROVIDER** and/or interview any clients and employees of the **PROVIDER** to be assured of satisfactory performance of the terms and conditions of this contract to the extent permitted by the law after giving the **PROVIDER** reasonable notice. The monitoring is a limited scope review of the contract and agency management and does not relieve the **PROVIDER** of its obligation to manage the grant in accordance with the applicable rules and sound management practices.

Following such monitoring the **COUNTY** will deliver to the **PROVIDER** a written report regarding the manner in which services are being provided. The **PROVIDER** will rectify all noted deficiencies within the specified period of time indicated in the monitor report or provide the **COUNTY** with a reasonable and acceptable justification for not correcting the noted shortcomings. The **PROVIDER'S** failure to correct or justify the deficiencies within the time specified by the **COUNTY** may result in the withholding of payments, being deemed in breach or default, or termination of this Contract.

PROVIDER must supply **COUNTY** with copies of all monitoring reports of programs that are funded by the **COUNTY** including agency response, within thirty (30) days of receipt.

B. Audits and Inspections

The **PROVIDER** will make all records referenced in Article IV. C., and all items included on financial statements available for audit or inspection purposes at any time during normal business hours and as often as **COUNTY** deems necessary.

The Clerk of Courts Internal Audit division, the Federal or State grantor agency (if applicable), Lee County employees, or any of their duly authorized representatives have the right of timely and unrestricted access to any books, documents, papers, or other records of **PROVIDER** or Certified Public Accountant (CPA) that are pertinent to the contract, in order to make audits, examinations, excerpts, transcripts and copies of such documents. If contract non-compliance or material weaknesses in the organization are noted, the **COUNTY** or other authorized representatives have the right to unlimited access to records during an audit or inspection. This includes timely and reasonable access to a **PROVIDER'S** personnel for the purpose of interview and discussion related to such documents.

C. Records

The **PROVIDER** shall retain all financial, client demographic, and programmatic records, supporting documentation, statistical records and other records which are necessary to document service provision, client demographics, expenditures, income and assets of the **PROVIDER** by funding source, program, and functional expenses category during the term of this contract and five (5) years from the date of contract expiration. If any litigation, claim, negotiation, audit, or other action involving the records has been initiated before the expiration of the 5-year period, the records shall be retained for one (1) year after the final resolution of the action and final resolution of all issues that arise from such action.

D. Independent Audit

An <u>original, bound</u> audit of the agency's financial statements in accordance with Generally Accepted Accounting Principals (GAAP), and/or current Generally Accepted Government

S:\INTSVCS\STANDARD FORMS\2005 Contract forms and information\Nonprofit -Unit Cost Contract template 2005.doc Rev. 09/04

Auditing Standards (GAGAS) as applicable, including the auditor's opinion, requisite reports on internal control and compliance if required, management letter addressing internal controls, and management's response to such letter, must be submitted to the **COUNTY** no later than one hundred eighty (180) days following the end of **PROVIDER'S** fiscal year(s) along with any corrective action plan if applicable. Failure to submit the report within the required time frame will result in the withholding of payment requested, or termination of the contract by the **COUNTY**.

The audit must be conducted by an independent licensed certified public accountant and must be in accordance with the General Accounting Office (GAO) Yellow Book, generally accepted Government Auditing Standards, OMB Circular A-133 "Audits of States, Local Governments and Non-Profit Organizations" if applicable, the Florida Single Audit Act (F.S. 215.97) if applicable, and the Auditor General Rule 10.550 (Government) or 10.650 (Not For Profit) as applicable. The audit must specifically identify the programs that are funded by this Lee County contract either in the statement of functional expenses, revenues and expenditures, footnotes, schedule of federal awards and state financial assistance or as supplemental data in the financial statements. The statement should be consistent with programs detailed in the corresponding proposal(s), exhibit(s), and attachment (s)

ARTICLE V AMENDMENTS

PROVIDER must request a contract amendment in writing detailing the nature of and justification for the requested amendment. The **COUNTY** reserves the right to approve or deny all contract amendments. An approved amendment shall be documented on the contract amendment form and signed by both parties.

ARTICLE VI CONTRACTOR STATUS

A. Independent Contractor

It is the Parties' intention that the **PROVIDER** will be an independent contractor and not the County's employee for all purposes, including, but not limited to, the application of the Fair Labor Standards Act minimum wage and overtime payments, Federal Insurance Contribution Act, the Social Security Act, the Federal Unemployment Tax Act, the provisions of the Internal Revenue Code, Florida revenue and taxation law, Florida Worker's Compensation law and Florida Unemployment Insurance Law. The **PROVIDER** will retain sole and absolute discretion in the judgment of the manner and means of carrying out the **PROVIDER'S** activities and responsibilities hereunder. The **PROVIDER** agrees that it is a separate and independent enterprise from the public employer, that it has made its own investment in its business, and that it will utilize a high level of skill necessary to perform the work. This agreement shall not be construed as creating any joint employment relationship between the **PROVIDER** and **COUNTY**, and **COUNTY** will not be liable for any obligation incurred by the **PROVIDER**, including but not limited to unpaid minimum wages and /or overtime premiums.

B. Subcontracts

Primary roles and responsibilities of **PROVIDER** cannot be subcontracted. It is mutually agreed that any County-funded program component that is subcontracted by **PROVIDER**

must have a written contract upon execution of this contract. The **PROVIDER** must ensure each subcontractor conforms to the terms and conditions of this contract and must be subject to indemnification as stated in Article VII.

ARTICLE VII RISK MANAGEMENT

A. Indemnification

The **PROVIDER** will defend, hold harmless, and indemnify the **COUNTY** from and against any and all liability, loss, claims, damages, wages or overtime compensation due its employees, costs, attorneys' fees, and expenses of whatever kind or nature which the **COUNTY** may sustain, incur, or be required to pay either by reason of the loss or improper use of any monies disbursed or to be disbursed hereunder including but not limited to fraud, embezzlement, or dishonesty on the part of any person represented or employed by the **PROVIDER**, or by reason of the intentional or negligent act of the **PROVIDER** or its agents, representatives and/or employees.

The **PROVIDER** further agrees that it will, at its own expense, defend any and all claims, actions, suits, or proceedings that may be brought against the **COUNTY** in connection with the above and satisfy, pay, and discharge any and all judgments or other resolution of claims that may be entered against the **COUNTY** in any such action or proceedings.

The **PROVIDER** further agrees that it is responsible for any and all claims arising from the hiring of individuals relating to activities provided under the Contract. All individuals hired are employees of the **PROVIDER** and not of the **COUNTY**.

B. Insurance

The **PROVIDER** agrees to secure and maintain the insurance coverage outlined below during the term of this Contract. The **PROVIDER** agrees that this insurance requirement shall not relieve or limit **PROVIDER**'S liability and that the **COUNTY** does not in any way represent that the insurance required is sufficient or adequate to protect the **PROVIDER**'S interests or liabilities, but are merely minimums. It is the responsibility of the provider to insure that all subcontractors comply with the insurance requirements.

- 1. **Workers' Compensation** Statutory benefits as defined by Florida Statute 440 encompassing all operations contemplated by this contract or agreement to apply to all owners, officers, and employees. Employers' liability will have minimum limits of:
 - \$100,000 per accident
 - \$500,000 disease limit
 - \$100,000 disease limit per employee
- 2. **Commercial General Liability** Coverage shall apply to premises and/or operations, products and/or completed operations, independent contractors, contractual liability, and broad form property damage exposures with minimum limits of:
 - \$100.000 bodily injury per person (BI)
 - \$300,000 bodily injury per occurrence (BI)
 - \$100,000 property damage (PD) or
 - \$300,000 combined single limit (CSL) of BI and PD

3. **Business Auto Liability** – The following Automobile Liability will be required and coverage shall apply to all owned, hired and non-owned vehicles use with minimum limits of:

\$100,000 bodily injury per person (BI)

\$300,000 bodily injury per occurrence (BI)

\$100,000 property damage (PD) or

#300,000 combined single limit (CSL) of BI and PD

- 4. **Directors & Officers Liability** Entity coverage to cover claims against the organization directly for wrongful acts with limits not less than \$100,000.
- 5. **Fidelity Bonding** Covering all employees who handle the agency's funds. The bond amount must be equivalent to the highest daily cash balance or a minimum amount of \$50,000.
- **C.** <u>Verification of Coverage Upon</u> execution of this contract, a certificate of insurance will be provided to Risk Management for review and approval. The certificate shall provide for the following:
 - "Lee County, a political subdivision and Charter County of the State of Florida, its agents, employees, and public officials" will be named as "Additional. Insured" on the General Liability policy. The **PROVIDER** agrees that the coverage granted to the Additional Insured applies on a primary basis, with the Additional Insured's coverage being excess.
 - Lee County will be given thirty (30) days notice prior to cancellation or modification of any stipulated insurance. Such notification will be in writing by registered mail, return receipt requested and addressed to the Risk Manager, P. O. Box 398, Ft. Myers, FL 33902.

ARTICLE VIII SUSPENSION/TERMINATION

A. Suspension

The **COUNTY** reserves the right to suspend funding for failure to comply with the requirements of this contract.

In the event **PROVIDER** ceases operation for any reason or files for protection from creditors under bankruptcy law, any remaining unpaid portion of this Contract, less funds for expenditures already incurred, shall be retained by the **COUNTY** and the **COUNTY** shall have no further funding obligation to the **PROVIDER** with regard to those unpaid funds.

B. <u>Termination by COUNTY</u>

The **COUNTY** may at any time and for any reason cancel this Contract by giving twenty–four (24) hours written notice to the **PROVIDER** by certified mail following a determination by the Board of County Commissioners, at its sole discretion, that such cancellation is in the best interest of the people of the county. From the date of cancellation, neither party shall have any further obligation unless specified in the termination notice.

C. <u>Termination by PROVIDER</u>

The **PROVIDER** may at any time and for any reason cancel this Contract by giving seventy-two (72) hours prior written notice to the **COUNTY** by certified mail of such and specifying the effective date.

COUNTY'S obligation to make any payments under any provision of this Contract shall cease on the effective date of termination.

ARTICLE IX ASSURANCE, CERTIFICATIONS, AND COMPLIANCE

The **PROVIDER** agrees that compliance with these assurances and certifications constitutes a condition of continued receipt of or benefit from funds provided through this Contract, and that it is binding upon the **PROVIDER**, its successors, transferees, and assignees for the period during which services are provided.

The **PROVIDER** further assures that all contractors, subcontractors, or others with whom it arranges to provide services or benefits to participants or employees in connection with any of its programs and activities are not discriminating against those participants or employees in violation of statutes, regulations, guidelines and standards. By acceptance of this funding, the **PROVIDER** assures and certifies the following:

- A. That they will comply with all applicable laws, ordinances and regulations of the United States, the State of Florida, the **COUNTY**, and the municipalities as said laws, ordinances and regulations exist and are amended from time to time. In entering into this contract, the **COUNTY** does not waive the requirements of any **COUNTY** or local ordinance or the requirements of obtaining any permits or licenses that are normally required to conduct business or activity contemplated by the **PROVIDER**.
- **B.** That they will comply with all federal, state and local anti-discrimination laws that are applicable to the **PROVIDER**.
- C. That they will administer its programs under procedures, supervision, safeguards, and such other methods as may be necessary to prevent fraud and abuse, and that it will target its services to those who most need them.
- D. That if clients are to be transported under this contract, the **PROVIDER** will comply with the provisions of Chapter 427, Florida Statutes, which requires the coordination of transportation for the disadvantaged.
- E. That any products or materials purchased with contract funds shall be procured in accordance with the provisions of Chapter 403.7065, Florida Statues, which refers to the procurement of products or materials with recycled content.
- F. That they will comply with Chapter 39.201, Florida Statutes, that any person who knows, or has reasonable cause to suspect, that a child is abused, abandoned, or neglected by a parent, legal custodian, caregiver, or other person responsible for the child's welfare, as defined in this chapter, shall report such knowledge or suspicion to

S:\INTSVCS\STANDARD FORMS\2005 Contract forms and information\Nonprofit -Unit Cost Contract template 2005.doc

the Central Abuse Hotline (1-800-342-3720).

- G. That they will comply with Chapter 415.1034, Florida Statutes, that any person who knows or has reasonable cause to suspect that a vulnerable and or disabled adult has been abused, neglected, or exploited, shall immediately report such knowledge or suspicion to the National Center on Elder Abuse Hotline (1-800-962-2873).
- H. That if personnel in programs under this contract work directly with children or youths and vulnerable or disabled adults, the **PROVIDER** will comply with the provisions of Chapters 435.03 and 435.04, Florida Statutes, which requires employment screening.
- I. That they will comply with Chapter 216.347, Florida Statutes, which prohibits the expenditure of contract funds for the purpose of lobbying the legislature, state or county agencies.
- J. That they will notify the COUNTY immediately of any funding source changes and/or additions from other sources that are different from that shown in the PROVIDER'S application. This notification must include a statement as to how this change in funding affects provision of service as well as the use of and continued need for COUNTY funds.
- K. That they will acknowledge support for activities funded wholly or in part by COUNTY funds.
- L. That they will notify the **COUNTY** of any SIGNIFICANT changes to the **PROVIDER** organization to include articles of incorporation and bylaws within ten (10) working days of the effective date.

ARTICLE X HEALTH INSURANCE PORTABILITY AND ACCOUNTABILITY ACT OF 1966 (HIPPA)

Lee County, pursuant to the federal Health Insurance Portability and Accountability Act of 1996 ("HIPAA") is a "covered entity" as the law defines that term. Any "personal health information "("PHI") as defined by the law that the County receives pursuant to this Agreement is subject to the disclosure and security requirements of HIPAA. Transfer of information to the County sufficiently "de-identified" to no longer be considered PHI is encouraged as being in the best interest of client PHI confidențiality to the extent that client services are unaffected. Particular methods to accomplish the highest levels of client service coupled with PHI confidentiality shall be an on-going task of the effected staffs of the County and **PROVIDER**.

ARTICLE XI NOTICES

Official notices concerning this Contract shall be directed to the following authorized representatives:

PROVIDER:	1	COUNTY:	
Name:	}	Name:	_Attn:
Title:		Title:	Contracts Specialist
Agency:		Lee County	Department of Human Services
Address:		Address:	83 Pondella Road, Suite 1
<u> </u>			Fort Myers, Florida 33903
Telephone		Telephone:	<u>(239) 652-79</u>
Fax:		Fax:	(239 <u>) 652-7960</u>
E-Mail:	_	E-Mail:	
applicable reports:			
	OR		
Name (printed/typed)		Name (print	ed/typed)
Signature		Signature	
- ,			

In the event that either party designates different representatives after execution of this contract, notice of the name and address of the new representative will be rendered in writing by authorized officer of **PROVIDER** to the **COUNTY**. The notification shall be attached to originals of this Contract.

ARTICLE XII SPECIAL PROVISIONS

If needed, **PROVIDER** may be called upon to assist **COUNTY** during a natural disaster or emergency.

ARTICLE XIII ALL TERMS AND CONDITIONS INCLUDED

This contract and its attachments, and any exhibits referenced in said attachments, together with any documents incorporated by reference, contain all the terms and conditions agreed upon by the parties. There are no provisions, terms, conditions, or obligations other than those contained herein, and this contract shall supersede all previous communications, representations, or agreements, either verbal or written between the parties. If any term or provision of this contract is legally determined unlawful or unenforceable, the remainder of the contract shall remain in full force and S:\INTSVCS\STANDARD FORMS\2005 Contract forms and information\Nonprofit -Unit Cost Contract template 2005.doc Rev. 09/04

effect and such terms or provisions shall be stricken.

IN WITNESS THEREOF, **PROVIDER** and **COUNTY** have caused this <u>11-page</u> contract and all Contract Exhibits and Attachments as indicated on next page to be executed by their undersigned officials as duly authorized.

PROVIDER:	COUNTY: LEE COUNTY
By: Name (print)	By: <u>John Albion</u> Name (print)
(Signature of authorized officer)	(Signature of authorized officer)
Title	<u>Chairman, Board of County Commissioners</u> Title
Date	Date
STATE OF FLORIDA COUNTY OF LEE	ATTEST: CLERK OF CIRCUIT COURT
The foregoing instrument was acknowledged before me this day of, 2004,	By:
by, who is personally known	Date:
to me or who has produced as identification and who \Box did (\Box did not) take an oath.	
NOTARY:	APPROVED AS TO FORM: COUNTY ATTORNEY'S OFFICE
By: Notary of Public (Signature) Name (typed)	By:
	Date: